o1 P | Producti
TrueBuild anelFroduction

SOFTWARE SUITE
Bundle #1

Main Floor Wells 1/42
Panel #21 Length: 9' 11-1/2" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 9-1/16"

9'11-1/2" L

RN
N

7' 11-5/8
7'8-5/8"

2X6

-

6' 10-1/8"—
7' 5-1/8"—

Top Plates: 2x4 SPF #2 9'11-1/2" Bottom Plates: 2x4 SPF #2 9'11-1/2"
Studs: (8) 2x4 SPF #2 7'8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) 6' 10-1/8" 7' 5-1/8"




True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 2/42

Panel #23 Length: 2' 0" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 8' 2-9/16"

, 20" )
—| oo
N O™
2X4 L
s K K
1
Top Plates: 2x4 SPF #2 2'0" Bottom Plates: 2x4 SPF #2 2' Q"
Studs: (2) 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 3/42

Panel #22 Length: 2' 8-1/8" Height: 8' 1-1/8" Diagonal: 8' 4-7/8"

| 2'8-1/8" |
1 T
AT
—
T
6" 10-1/27
o
D i3
T
~ = 2
X
6'10-1/2"
;TAT
0
|
o0
o~

Top Plates: 2x4 SPF #2 2'8-1/8" Bottom Plates: 2x4 SPF #2 2' 8-1/8"

Components & Subcomponents Start End
2068 (6'9") @ Start 2'8"




True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 4/42

Panel #19 Length: 3' 10-1/2" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 8' 10-5/16"

2 3 10-1/2" |
7 7
ATAT
9 o
9 B
= o
T~
;TAT
I i X i

Top Plates: 2x4 SPF #2 3'10-1/2" Bottom Plates: 2x4 SPF #2 3'10-1/2"
Studs: (4) 2x4 SPF #2 7'8-5/8"



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 5/42

Panel #20 Length: 3' 7" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 8' 8-7/8"

L 3T l
] 1
@ i
il
g
K I K N
Top Plates: 2x4 SPF #2 3'7" Bottom Plates: 2x4 SPF #2 3'7"

Studs: (4) 2x4 SPF #2 7'8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022

Bundle #1

Main Floor Wells 6/42
Panel #18 Length: 2' 8-1/2" Height: 8' 1-1/8" Diagonal: 8' 5"

2'8-1/2"

M

7' 11-5/8"
7 8-5/8

2X6 L

2X6 L

o :
~y o3
P
Top Plates: 2x4 SPF #2 2'8-1/2" Bottom Plates: 2x4 SPF #2 2' 8-1/2"
Studs: 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
11-1/4" 1'6-1/4"

2X6 L (2x6 Up)



True BUIld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 7/42

Panel #40 Length: 3' 11" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 8' 10-9/16"

L 311" |

7' 11-5/8"
7' 8-5/8

2X4 L

D&‘ i i W

Top Plates: 2x4 SPF #2 3'11" Bottom Plates: 2x4 SPF #2 3' 11"
Studs: (3) 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"




True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 8/42

Panel #39 Length: 3' 0" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 8' 6-3/16"

L 30" l
] 7
@ 5
2w
o
i I K I
Top Plates: 2x4 SPF #2 3'0" Bottom Plates: 2x4 SPF #2 3'0"

Studs: (4) 2x4 SPF #2 7'8-5/8"



o1 P | Producti
TrueBuild anelFroduction

SOFTWARE SUITE
Bundle #1

Main Floor Wells 9/42
Panel #17 Length: 6' 4-1/2" Height: 8' 1-1/8" First Stud Face @2' 7-1/4" (1' 4" o.c.) Diagonal: 10' 2-7/16"

L 8 a1 b
1 1
Arg
2 %
2 5
| 0
i~ ~
7TAT
[ i
I . =
=
© ©
S =

Top Plates: 2x6 SPF #2 6'4-1/2" Bottom Plates: 2x6 SPF #2 6'4-1/2"
Studs: (4) 2x6 SPF #2 7' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"
2X6 L (2x6 Up) 1' 4-3/4" 1' 11-3/4"




True BUIld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 10/42

Panel #36 Length: 8'9" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 10"

7' 11-5/8
7' 8-5/8"

I N

Top Plates: 2x6 SPF #2 8'9" Bottom Plates: 2x6 SPF #2 8'9"
Studs: (8) 2x6 SPF #2 7' 8-5/8"




Panel Production

TrueBuild

SOFTWARE SUITE
Bundle #1

Wells 11/42

Main Floor
Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 12' 3-1/4"

Panel #15 Length: 9' 4"

.
46_,4,
6 10-1/2"
¥ %
05
| o0
N 32
X
6 10-1/2"
;TAT
i W > W W —
_\ _\ _| _\
& 5 T %
S 5 -
D 0
~

Top Plates: 2x4 SPF #2 9'4" Bottom Plates: 2x4 SPF #2 9'4"

Studs: (4) 2x4 SPF #2 7'8-5/8"

Components & Subcomponents Start End
3068 (6'9") 2'2" 5'10"
8' 5-1/4"

2X6 L (2x6 Dn) 7' 10-1/4"



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #1
12/42

Panel #16 Length: 8' 0" Height: 8' 1-1

/8" First Stud Face @5' 3-1/4" (1' 4" o.c.)

8'g"

Diagonal: 11' 3-1/2"

F

7' 11-5/8"
7' 8-5/8

1 6-3/14"

6' 10-1/27

Top Plates: 2x4 SPF #2 8'0"
Studs: (4) 2x4 SPF #2 7'8-5/8"

32"
X
6' 10-1/2"
2X6 L 3068 2X6 L
N | | ,\M\ N N | | M
T % < T 3
o = 5 5 =
- < ~ ™~

Bottom Plates: 2x4 SPF #2 8' 0"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 6-1/4" 1'1-1/4"

3068 (6'9") 1'1-1/4" 4'9-1/4"
7' 0-1/4" 7' 7-1/4"

2X6 L (2x6 Up)



o1 P | Producti
TrueBuild anelFroduction

SOFTWARE SUITE
Bundle #1

Main Floor Wells 13/42

Panel #38 Length: 7' 6" Height: 8' 1-1/8" Diagonal: 10' 11-5/16"

L 76 |
1 1
16-7/8"
6'9-1/27
2 %
0| 3
; : 5'1-1/4"
X
6'9-1/2"
2X4L 5'BF
& o i
— ©
Top Plates: 2x4 SPF #2 7'6" Bottom Plates: 2x4 SPF #2 7'6"
Studs: 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"

5'BF (6'8") 1'1-1/8" 6' 8-3/8"



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 14/42
Panel #24 Length: 15' 10" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 8-11/16"
L 15" 10" L
1 1
A
6' 10-1/27
E : 32
X
6'10-1/2"
2X6 L 3068 2X6 L
X i N I i X N F{XN NX{XN‘ K
S ¥ X
Top Plates: 2x4 SPF #2 15'10" Bottom Plates: 2x4 SPF #2 15'10"
Studs: (9) 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 9' 8-1/4" 10' 3-1/4"
3068 (6' 9") 10' 3-1/4" 13" 11-1/4"
2X6 L (2x6 Up) 13'11-1/4" 14' 6-1/4"



o1 P | Producti
TrueBuild anelFroduction

SOFTWARE SUITE
Bundle #1

Wells 15/42

Height: 8' 1-1/8"  First Stud Face @9' 6-1/4" (1' 4" o.c.) Diagonal: 13' 6-3/16"

Main Floor

Panel #25 Length: 10" 11"

L 10" 11"
1 1
AT
AT
biﬁ‘% 1" 7-1/4"
6" 10-1/27 6" 10-1/27
o
Qg
=
B~ ™~ 32" 32
X X
&' 10-1/27 6'10-1/2"
;TAT
3068 2X6 L 3068
N W NA i N
| \ | I
o) 0w o o0
< n ]

Top Plates: 2x4 SPF #2 10'11" Bottom Plates: 2x4 SPF #2 10' 11"
Studs: (3) 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start End

3068 (6'9") 9-3/4" 4' 5-3/4"

2X6 L (2x6 Dn) 4' 5-3/4" 5' 0-3/4"
8' 8-3/4"

3068 (6'9") 5' 0-3/4"



True BUIld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 16/42

Panel #37 Length: 2'4" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 8' 3-5/8"

L 2'4" |
1 1
@ 5
W
i
i K X
Top Plates: 2x4 SPF #2 2'4" Bottom Plates: 2x4 SPF #2 2'4"

Studs: (3) 2x4 SPF #2 7'8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 17/42
Panel #26 Length: 12' 8-1/2" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 15' Q"
L 12'8-1/2" L
1 \
2X6 L 2X6 L
X X K X K K X K =i ‘NXJ‘_M

Bottom Plates: 2x4 SPF #2 12' 8-1/2"

Top Plates: 2x4 SPF #2 12'8-1/2"
Studs: (9) 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 9'11-1/4" 10' 6-1/4"
11' 6-3/4" 12' 1-3/4"

2X6 L (2x6 Up)



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 18/42

Panel #34 Length: 3' 0" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 8' 6-3/16"

L 30 L
1 1
¥
0| )
| o
~ &~
2X6 L
X K ‘N%‘ X
¥ X
e 8
Top Plates: 2x4 SPF #2 3'0" Bottom Plates: 2x4 SPF #2 3'0"
Studs: (3) 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End

2X6 L (2x6 Dn) 1'10-1/4" 2'5-1/4"



TrueBuild

SOFTWARE SUITE

Wells

Panel Production
1-14-2022

Bundle #1

19/42

Panel #35 Length: 3' 5-1/2" Height: 8' 1-1/8"

Diagonal: 8' 8-1/4"

3'5-1/2"

'2-114"

7' 11-5/8"
7' 8-5/8"

6' 10-1/27

28

6'10-12"

1304 — =
=

2x4 SPF #2 3'5-1/2"
Studs: (2) 2x4 SPF #2 7' 8-5/8"

Top Plates:

Components & Subcomponents

Bottom Plates: 2x4 SPF #2 3'5-1/2"

End

3 33 [

2668 (6'9")

3' 3-3/4"



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #1

20/42

Panel #32 Length: 7' 2-1/2" Height: 8' 1-1/8"

Diagonal: 10' 8-15/16"

7' 11-5/8"
7' 8-5/8

L 722" L
1
b
6'9-1/2"
5'1-1/4"
X
6'9-172"
5 BF
N PW W N
i 2
L L
[0)) <
©

Top Plates: 2x4 SPF #2 7'2-1/2" Bottom Plates: 2x4 SPF #2 7' 2-1/2"

Studs: (2) 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start

End

5'BF (6'8") 9-5/8"

6'4-7/8"



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 21/42

Panel #33 Length: 2' 7-1/2" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 8' 4-11/16"

L 2'7-4/2" L
g

7' 11-5/8"
7' 8-5/8

2X4 L

)

Top Plates: 2x4 SPF #2 2'7-1/2" Bottom Plates: 2x4 SPF #2 2'7-1/2"
Studs: (2) 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"




TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #1
22/42

Panel #29 Length: 8' 2"

Height: 8' 1-1/8"

7' 11-5/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 4-15/16"

| 8o
1 1
.
51 zJ‘
6" 10-1/27
©
w0
[+4]
I~ 32
X
6" 10-1/2"
Ar
I
i - = i
| 1
a § &
I S o
o~ T ©
[Ts]

Top Plates: 2x4 SPF #2 8'2"
Studs: (4) 2x4 SPF #2 7' 8-5/8"

Bottom Plates: 2x4 SPF #2 8'2"

Components & Subcomponents Start End
3068 (6'9") 2'2-1/2" 5'10-1/2"
5'10-1/2" 6'3-1/2"

2X4 L (2x4 Dn)



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #1

23/42

Panel #28 Length: 3' 11-1/2" Height: 8' 1-1/8"

7' 11-5/8"

Diagonal: 8' 10-3/4"

7' 8-5/8"

3'11-1/2"

14"

6" 10-1/27

32

X
6'10-1/2"

BN

Top Plates: 2x4 SPF #2 3'11-1/2" Bottom Plates: 2x4 SPF #2 3'11-1/2"

Studs: 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start

End

3068 (6' 9") @ Start

3| 8"



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production

1-14-2022
Bundle #1
24/42

Panel #27 Length: 11'9" Height: 8' 1

-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

Diagonal: 14' 2-3/8"

7' 11-5/8"
7' 8-5/8

2X6

-

X

4L
N%‘ i A K b N X ‘QM
i ¥ X ¥
it :
~ s
Top Plates: 2x4 SPF #2 11'9" Bottom Plates: 2x4 SPF #2 11'9"
Studs: (7) 2x4 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"
2X6 L (2x6 Dn) 7' 4-1/4" 7' 11-1/4"
2X4 L (2x4 Dn) 11'4" @ End



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 25/42
Panel #30 Length: 12' 8-1/2" Height: 8' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 15' Q"
L 12'8-1/2" L
}
14"
6" 10-1/27
i ~ 32
X
6" 10-1/27
3068 2X4L 2X6 L
M Ve K K = K A i

Top Plates: 2x4 SPF #2 12'8-1/2" Bottom Plates: 2x4 SPF #2 12'8-1/2"
Studs: (6) 2x4 SPF #2 7' 8-5/8"

Components & Subcomponents Start End

3068 (6'9") @ Start 3'8"

2X4 L (2x4 Dn) 3'8" 4'1"

2X6 L (2x6 Dn) 7' 3-1/4" 7' 10-1/4"



Panel Production

TrueBuild

SOFTWARE SUITE
Bundle #1

Wells 26/42

Main Floor
Height: 8' 1-1/8" First Stud Face @8-3/4" (1' 4" o.c.) Diagonal: 13' 11-1/2"

Panel #31 Length: 11' 5-1/2"

11'5-1/2" {

7' 11-5/8"
7' 8-5/8

X

=
=l
=
=
=
=
gg
" e
m

7' 0-3/4"—
7' 7-3/4"—
11'0-1/2"—

Top Plates: 2x4 SPF #2 11'5-1/2" Bottom Plates: 2x4 SPF #2 11'5-1/2"
Studs: (8) 2x4 SPF #2 7'8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Up) 7' 0-3/4" 7' 7-3/4"
@ End

2X4 L (2x4 Up) 11' 0-1/2"



True BUIld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 27142

Panel #42 Length: 10' 3" Height: 3' 0" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 7-3/4"

4|/ 10'3" %
i A i I X W A K A

Top Plates: 2x4 SPF #2 10" 3" Bottom Plates: 2x4 SPF #2 10' 3"
Studs: (9) 2x4 SPF #2 2'7-1/2"



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #1
Main Floor Wells 28/42

Panel #41 Length: 4' 2-1/2" Height: 3' 0" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 5' 1-3/16"

‘ 4'2-1/2" ‘

2 10-1/2"
2'7-1/2"

Top Plates: 2x4 SPF #2 4'2-1/2" Bottom Plates: 2x4 SPF #2 4'2-1/2"
Studs: (4) 2x4 SPF #2 2'7-1/2"



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #2

29/42

Panel #£X14 Length: 12' 10-1/2" H

eight: 8' 1-1/8"  First Stud Face @5' 6-1/4" (1' 4" o0.c.) Diagonal: 15' 1-11/16"

L 12" 10-1/2" L
1 g
N -
T T3 1
(2) 2x10
6' 11-3/8"
@ g
9l 3 A -3/8"
= o SA A A B
i~
13"
AT
—
10" 0 70 Y 7/16 OSB (8)
X6 L 30x36 2X6 L
] o]
[@] [Te] n o
- = ¥ i

Top Plates: 2x6 SPF #2 12'10-1

/2" Bottom Plates: 2x6 SPF #2 12' 10-1/2"

Studs: (8) 2x6 SPF #2 7'8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) 10" 1'5"
30x36 (6" 11-3/8") 15" 4'5"
2X6 L (2x6 Dn) 4'5" 5'0"

Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"

A(3) 40" x 80" 7/16 OSB

8) B 1'4" x 8'0" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 30/42
Panel #EX13 Length: 16' 0" Height: 8' 1-1/8" First Stud Face @2' 7-1/4" (1' 4" o.c.) Diagonal: 17' 10-1/2"
3 16'0" )
1 1
2) 2x10
%"10—112' - -
B A A A
LT r e p— T 7116
2X6L 3S entry 2X6 L
I _‘RM_ _ I _ | I I le I
> T u & & ¥ ox

Top Plates: 2x6 SPF #2 16'Q" Bottom Plates: 2x6 SPF #2 16'Q"

Studs: (8) 2x6 SPF #2 7'8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 9" 14"

38 14" 1'8-1/2"
entry (6'11-3/8") 3'5-1/2" 72"

2X6 L (2x6 Dn) 12' 0-1/4" 12' 7-1/4"

Exterior Sheathing: ~ Start: Flush  End: Flush

A(4) 40" x 8'0" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 31/42
Panel #EX12 Length: 16' 0" Height: 8' 1-1/8" First Stud Face @3' 11-1/4" (1' 4" o.c.) Diagonal: 17' 10-1/2"
3 16'0" )
1 1
T T T
(2) 2x10 (2) 2x10
6' 11-3/8" 6'11-3/8"
2'6"
X
30"
50"
o % X
il 31138 A A A C° A
1 11-3/8"
ne"
13"
LT r e p— o 7116
30x36 2x8 L 36x60-2
M 1 1 i

Top Plates: 2x6 SPF #2 16'Q" Bottom Plates: 2x6 SPF #2 16'Q"
Studs: (6) 2x6 SPF #2 7' 8-5/8"

Components & Subcomponents Start End

30x36 (6' 11-3/8") 6" 3'6"

2x8 L (2x8 Dn) 5'1-3/8" 5'10-1/8"

36x60-2 (6' 11-3/8") 81" 13' 7"

Exterior Sheathing:  Start: Flush  End: Flush

A(4) 40" x 80" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 32/42
Panel #EX11 Length: 14' 8" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 16' 8-5/16"
L 14'8" L
1 1
TT T
2) 2x10
6" 11-3(8"
23 A A B
1" 11-3/8)
/7"
- 70 T T 78 ZIIEOSBI(E
2X6 L 36x60-2 2X6 L
S [ 7
~ EJ) ] g

Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"
Studs: (5) 2x6 SPF #2 7' 8-5/8"

12' 0-3/4"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"
36x60-2 (6' 11-3/8") 39" 9'3"

2X6 L (2x6 Dn) 11' 5-3/4" 12' 0-3/4"

Exterior Sheathing:  Start: Flush  End: Flush

A(3) 4'0" x 80" 7/16 OSB (8) B 2'8" x 8'0" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 33/42
Panel #£X10 Length: 14' 2-1/2" Height: 8' 1-1/8" First Stud Face @2' 7-1/4" (1' 4" o.c.) Diagonal: 16' 3-1/2"
L 14'2-1/2" I
1 7
2o A A A B
i To 70 70 7 716 0SB (
X6 L 13
I Ng I i I I I I I U
Top Plates: 2x6 SPF #2 14'2-1/2" Bottom Plates: 2x6 SPF #2 14'2-1/2"
Studs: (10) 2x6 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 1' 0-3/4" 1'7-3/4"
4S 3' 8-3/4" 4' 2-3/4"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"

A(3) 4'0" x 8'0" 7/16 OSB (8)

B 2'8" x 8'0" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 34/42
Panel #EX9 Length: 12' 0" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 14' 4-7/8"
L 12'Q"
4
T iz
I e |
(2) 2x10
6'11-3/8"
3'6"
X
42"
i A A A
/9—3/8"
16"
N p— g o 7/16 OSB (8)
36x42
= =‘

Top Plates: 2x6 SPF #2 12' Q" Bottom Plates: 2x6 SPF #2 12'Q"
Studs: (7) 2x6 SPF #2 7' 8-5/8"

Components & Subcomponents Start End

36x42 (6' 11-3/8") 52" 9 2"

Exterior Sheathing: ~ Start: Flush  End: Flush

A(3) 40" x 8'0" 7/16 OSB (8)



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #2
Main Floor Wells 35/42

Panel #EX8 Length: 5'4" Height: 8' 1-1/8" Diagonal: 9' 7-1/16"

L 54" |
1 1
(2) 2x10
T
© %
22 B
X
i 70 F 7116 OSB (8)
\\M entry |><]
X Sy
o T
~ 3
<
Top Plates: 2x6 SPF #2 5'4" -38\ Sk | Bottom Plates: 2x6 SPF #2 5'4" -38\ Sk |
Studs: (2) 2x6 SPF #2 7' 8-5/8"
Components & Subcomponents Start End
entry (6'11-3/8") 7-3/4" 4' 4-1/4"

Exterior Sheathing: ~ Start: Flush  End: Flush

A 4'0" x 80" 7/16 OSB (8) B 1'4" x 8'0" 7/16 OSB (8)



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022

Bundle #2
36/42

Panel #EX5 Length: 5'5-1/2" Height: 8' 1-1/8" Diagonal: 9' 7-15/16"

L 5'651/2"
)
Ar;ﬁ 2
15120 1
2) 2x10
6' 11-3/8"
30"
= X
B 50
- & A B
~ ~
1" 11-3/8"
CET7S
Aﬁgﬁ
3'534" 151727
X6 L 36x60
_l - -
~ oo [
A )
- ¥

Top Plates: 2x6 SPF #2 5'5-1/2" | Sk /-38 Bottom Plates: 2x6 SPF #2 5'5-1/2"

Studs: 2x6 SPF #2 7' 8-5/8"

7/16 OSB (8)

| Sk /-38

Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"
36x60 (6" 11-3/8") 1'2-1/2" 4'8-1/2"

Exterior Sheathing:  Start: Hold 6-1/4"  End: Flush

A 3'5-3/4" x 8'0" 7/16 OSB (8) B 1'5-1/2" x 8' 0" 7/16 OSB (8)



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production

1-14-2022
Bundle #3
37/42

Panel #£X1 Length: 10' 8-1/2" Height: 8' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 4-3/16"

10'8-1/2°

7' 11-5/8
7'8-5/8"
>

10

10"

281

7116 OSB (8)

2X4L

Top Plates: 2x6 SPF #2 10'8-1/2" Bottom Plates: 2x6 SPF #2 10' 8-1/2"

Studs: (7) 2x6 SPF #2 7'8-5/8"

=

[
q
=
™
o
=)

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
2X4 L (2x4 Dn) 10' 3-1/2" @ End

Exterior Sheathing:  Start: Flush  End: Flush

A(2) 40" x 80" 7/16 OSB (8)

B 2'8-1/2" x 8' 0" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #3
Main Floor Wells 38/42
Panel #EX3 Length: 16' 0" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 10-1/2"
L 16'0" l
1 1
- IE
14
\Q) 2x10
'6'11'
23 A A A A
N 60"
X
611"
S o p— o 0 7
T T T W - 1
1 =\ =\
Top Plates: 2x6 SPF #2 16'Q" Bottom Plates: 2x6 SPF #2 16'0"
Studs: (6) 2x6 SPF #2 7'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
60611 (6' 11") 54" 12' 1"

Exterior Sheathing:  Start: Flush  End: Flush

A(4) 40" x 80" 7/16 OSB (8)



TrueBuild

Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #3
Main Floor Wells 39/42
Panel #EX4 Length: 12' 0" Height: 8' 1-1/8" First Stud Face @10' 7-1/4" (1' 4" 0.c.) Diagonal: 14' 4-7/8"
L 12'0" L
1 7
T 1634
3) 2x10
6'11-3/8"
50"
%l = X
ol 2 5'0"
3 A A A
11378
63/
il T T o 7/16 OSB (8)
2X6 L 60x60 3ply 2X6 L 3s
N i I | | M ]
S X S S © o

Top Plates: 2x6 SPF #2 12' Q" Bottom Plates: 2x6 SPF #2 12'Q"

Studs: (2) 2x6 SPF #2 7'8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 9-3/4" 1'4-3/4"
60x60 3ply (6' 11-3/8") 2'5-1/4" 8'2-1/4"

2X6 L (2x6 Dn) 9'2-3/4" 9'9-3/4"

38 11'7-7/16" 11' 11-15/16"

Exterior Sheathing: ~ Start: Flush  End: Flush

A(3) 4'0" x 8'0" 7/16 OSB (8)



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production
1-14-2022
Bundle #3

40/42

Panel #EX2 Length: 15' 10"

Height: 10' 0-7/8"

First Stud Face @5' 3-1/4" (1' 4" o.c.)

711"

RN

l
1

L
g

W
S / v Hom
(2) 2x10 (2) 2x10
6'11-3/8" 6" 11-3/8"
- 3o" 3'0
2 X X,
2 A % B A A C
1'11-3/8" 1' 11-3/8"
114-1/2" 1727
- oy 78 T o %7/16033 (®)
36x60 36x60
- 1[I I L -
: ; :
Top Plates: 2x6 SPF #2 8'2-5/16" -14/ Rk /14 Bottom Plates: 2x6 SPF #2 15' 10"
2x6 SPF #2 8'2-5/16" 14\ Rk \-14
Studs: 2x6 SPF #2 7'8-15/16" | Rk \-14 2x6 SPF #2 7'8-15/16" | Rk /14
2x6 SPF #2 9'8-5/16" | Rk /14 2x6 SPF #2 9'8-5/16" | Rk \-14
2x6 SPF #2 9'0-3/4" | Rk \-14 2x6 SPF #2 9'4-3/4" | Rk \-14
2x6 SPF #2 9'4-1/4" | Rk /14 2x6 SPF #2 9'0-1/4" | Rk /14
2x6 SPF #2 8'0-1/4" | Rk /14
Components & Subcomponents Start End
36x60 (6' 11-3/8") 1'3-1/2" 4'9-1/2"
36x60 (6" 11-3/8") 11'0-1/2" 14' 6-1/2"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"
A (3) 4'0" x 8'0" 7/16 OSB (8) B 2'8" x 8'0" 7/16 OSB (8)
C 1'7-1/2" x 8'0" 7/16 OSB (8) D 4'0" x 2'0-7/8" 7/16 OSB (8)
E 2'8" x 1'9-1/8" 7/16 OSB (8) F 4'0" x 1'1-1/8" 7/16 OSB (8)
G 1'7-1/2" x 0" 7/16 OSB (8) H 4'0" x -4-5/8" 7/16 OSB (8)



TrueBuild

SOFTWARE SUITE

Main Floor

Wells

Panel Production

1-14-2022
Bundle #3
41/42

Panel #EX6 Length: 16' 5-15/16"

Height: 12' 2-9/16"

First Stud Face @1' 3-1/4" (1' 4" o.c.)

16'5-15/16"

2 10-3/4

2 10-3/4

S 1U-3/4 1U-3/14
(2)/2xB (3) 266
6" 10-1/2° 701/2'
. 5'0
S A A . A B C
i X
6'10-12"
N 10172 /
114-9/16
- To To To 7 Toi5e 1 //160SB (§)
60x60 SGD
T T T TN I ]
Bottom Plates: 2x6 SPF #2 16'5-15/16" -38\ Sk /-14
Top Plates: 2x6 SPF #2 17'0" -38\ Sk /-14 -13.6/ Rk /13.6
Studs: 2x6 SPF #2 7'8-7/8" | Rk \-13.6 2x6 SPF #2 11'7-1/8" | Rk \-13.6
2x6 SPF #2 7'11-9/16" | Rk \-13.6 2x6 SPF #2 8'3-7/16" | Rk \-13.6
2x6 SPF #2 8'7-5/16" | Rk \-13.6
Components & Subcomponents Start End
60x60 SGD (6' 10-1/2") 4'9-15/16" 10' 5-15/16"
60x60 (6' 10-1/2") 10'7-7/16" 16' 1-7/16"
Exterior Sheathing:  Start: Flush  End: Flush
A (3) 4'0" x 80" 7/16 OSB (8) B 28" x 80" 7/16 OSB (8)
C 1'9-15/16" x 8'0" 7/16 OSB (8) D 4'0"x 2" 11" 7/16 OSB (8)
E 2'8" x 3'6-3/4" 7/16 OSB (8) F 4'0" x 1'11-5/16" 7/16 OSB (8)
G 1'9-15/16" x 4' 0-1/16" 7/16 OSB (8) H 4'0" x 11-11/16" 7/16 OSB (8)



True BUlld Panel Production

SOFTWARE SUITE 1-14-2022
Bundle #3
Main Floor Wells 42/42

Panel #EX7 Length: 16' 5-15/16" Height: 11' 11-11/16" First Stud Face @11' 11-1/4" (1' 4" o.c.)

| 51034 5 10-34" 16' 5-15/16" L
1U-3/4 1U-314 T
3 2x6’ (3) 2x6
- 10-1/2" 6' 10-1/27
o
o
50" 5'0
X X
A 50 A 50 A B D
1" 10-1/2° kﬂz’
REYZ el
- 0 T0 10 7 1 tgisre" 1 7116 0SB (8)
60x60 60x60
WJ il | I I I 0
a o ©
S g C
< o s
D

Bottom Plates: 2x6 SPF #2 16'5-15/16" -14\ Sk /-38
Top Plates: 2x6 SPF #2 17'0" -14\ Sk /-38 13.6\ Rk \-13.6

Studs: 2x6 SPF #2 11'7-1/8" | Rk / 13.6 2x6 SPF #2 7'8-7/8" | Rk /13.6
2x6 SPF #2 8'8-3/4" | Rk /13.6 2x6 SPF #2 8'4-7/8" | Rk /13.6

2x6 SPF #2 8'1" | Rk /13.6
Components & Subcomponents Start End
60x60 (6' 10-1/2") 4-1/2" 5'10-1/2"
60x60 (6' 10-1/2") 6'0" 11'6"
Exterior Sheathing:  Start: Flush  End: Flush
A(3) 40" x 80" 7/16 OSB (8) B 2'8" x 8'0" 7/16 OSB (8)
C 4'0" x 4'0-1/16" 7/16 OSB (8) D 1'9-15/16" x 8' 0" 7/16 OSB (8)
E 4'0" x 3'0-7/16" 7/16 OSB (8) F 4'0" x 2'0-3/4" 7/16 OSB (8)
G 2'8" x 1'1-1/8" 7/16 OSB (8) H 1'9-15/16" x -1/16"  7/16 OSB (8)



